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Paper I
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gyAutent 1

Time Allowed : 60 Minutes]
Note

[Maximum Marks : 100

: This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

| wId Gredn.

AT ¢ A YA UTE (50) FgES WA faeiel $THA Toish Rl & (2) T SR

In a game with two players X and
Y and given n (= 4) number of circles
drawn on a plane paper, alternately
each one of X and Y is suppose to
join two different circles which were
not already joined by a line. The
winner is one who joins the last
available pair of circles and the
game ends. If X starts the game
then :

(A) X always wins
(B) Y always wins
(C) X wins whenever n is odd

(D) Y wins whenever n is a power
of 2

In a classroom there are ten chairs
In a TOW Cq, Cg, €3, wevereens o Which
are labelled %)y numbers 1 2, 3,
.......... , 10 arbitrarily but satlsfylng
the condition that k; < kj whenever
I < j, where kq, kg, kg, ......... , k1o
are the labels given to the chairs

P 7 , €10 respectively.

en which of the following is
true ?

(A) For some 1, k~ =1

(B) There are two ¢ and j such that
k; = i and k =]

(C) All labels must be distinct
(D) For every i, k; = i

Th! Comed X 9 Y § 3F Toolg. 3Ted
9 TRl HIRER 1 (2 4) Ides @eal
3Med; X 70T Y § ThHaR TehH 3R
7 SrEeiedl §F gl IMEeH Siedr.
S FeH! adessire! Sedl O fSehdl 9
Tes Tl SR X 7 Wt FEa shedl,
W

(A) X eHi fSierom

(B) Y TeHfl fSiom

(C) n foom 8@ W X FHIR

(D) n & T A T WE
A W Y &R

TR I A ST <@l Tl

¢ Cos c3, ....... 010:” 1,2, 3, ... , 10

T GEAA AR ol 3T HUT:

ki, ko, Rgy weenen , ki B THI®A

C1,C95Cg; «eenenenn Clowwm
q b <k @l’%nq‘éraqzumm ™

gaﬁaﬁaﬁﬁvﬁﬁwwaﬁ ?
(A)EWBDFLFITO;T,ki:L

(B) i q Wk =i T k=
(C) |e AHIHA el 38

(D) W i W, k; = i

[P.T.O.



There are flowers in a basket which
are to be distributed to five persons
standing in a row. The second person
received half of the number of
flowers given to the first person, the
third person received half of the
number of flowers received to the
second person; the fourth person
received half of the number of
flowers received to the third person
and the fifth person received half of
the number of flowers received to the
fourth person. If the fifth person
received only one flower and there
is no flower remaining in the
basket, how many flowers were their
in the basket ?

(A) 31
(B) 32
(C) 16
(D) 15

If 6 men or 8 children complete one
task in 24 days, then how many
days will be required to complete the
task for 7 men and 12 children ?

(A) 12
(B) 9
(C) 10
(D) 16
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Ueh! SIACid STHCel ¥ e T S

ST e KT Jeidd JHmol area.

THA KT afged SHeritean et g,

o= =it gu=amaen et wet, =e

Frg faa=amean it w1 9 arEen

D

R HreA FeRiden e we feel.

o o N
S GrEAl A Uesh |hel Hodled, dl

(aWaY [ n

Ol ThRUT el fehdt 2

(A) 31

(B) 32

(C) 16

(D) 15

T &M 6 o8 fohal 8 Hoi 24 fa@m
qof A R dF w1 7 @ ST 12

o o (aV [ hd o
ol e et feemma gof st ?

(A) 12
B) 9
(C) 10

(D) 16




The area of a parallelogram is
128 em? and its altitude is twice the
corresponding base. What is the
length of the base ?

(A) 6 cm
(B) 7 cm
(C) 12 cm
(D) 8 cm

Arrange the following terms in a
meaningful-logical order indicating
the correct sequence :

(1) Grass

(2) Curd

(3) Milk

4) Cow

(5) Butter

(A) 1—4—3—2—5
B) 4—3——2—1—-5
) 5—2—3—4—1
D) 4—1—3—2-5

If the term HJLN is converted into
ILOR, then by the same principle
what could be the correct alternative
for the term DFHJ ?

(A) FHJN
(B) EHKN
(C) EGIL
(D) FHJN
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TehT FHIRYS AN &%hes 128 cm?
3ME 9 = S Gefd urmen gue
Mg, R N U et faret 2

(A) 6 cm
(B) 7 cm
(C) 12 cm
(D) 8 cm

TTelt feoiean Hehea s1efgul 9 difehes
IS HI€d IFF A HIUE O T

(1) e
(2) <&
(3) 3H
(4) =
(5) it
(A) 1—4—3—2—5

(B) 4—-3—2—1-5
(C) 5—2—3—4—1
D) 4—1—3—2—-5

ST HJLN I@ &9 ILOR 3@ @
T, W A= aa DFHJ JE3S! shior
T SR A ?

(A) FHIJN
(B) EHKN
(C) EGIL
(D) FHJN

[P.T.O.



‘Parrots have green colour.” This

statement is a/an :
(A) Perception
(B) Inference

(C) Comparison
(D) Implication

Which of the following is/are the
valid conclusions based on the

statements given below ?
Statement I :

All donkeys are hardworking.
Statement II :

Some hardworking animals are

human beings.

Conclusion 1 :

Some donkeys are hardworking.
Conclusion 2 :

Some donkeys are human beings.
(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2
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(A) gId

(B) A3HM

(C) 3uHH

(D) i

@ret fooiedn faumer snerfia o

frspel 3fed smea ?

faa= I :

e TMed Fles 3.
fagm 11 -

HE wRIG WO AFE R
e 1 :

FE Med FWRP 3T
e 2 :

HE Ted AFa 3.
(A) 1 %
(B) 2 %

(C) 1 7o 2 St
(D) 1 A& 2 90 A&




10. Which of the following diagrams

shows the correct relationship

among :

Boys, Students, Girls

(A)

(B)

©)

(D)

QCQ%
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10. ®eATAdsRT  HIOE TR q1A

Fehoq e oY e esifad ?

e, foreneff, eft

(A)

(B)

(€

(D)

QQQ@

[P.T.O.



11.

A report regarding certain

examination is given below :

Total number
appeared = 1000

of candidates

The number of male
candidates = 550
The number of candidates

passed = 700

The number of successful male
candidates will lie between the
1Imits ool )

(A) 100 to 250
(B) 250 to 550
(C) 550 to 700
(D) 700 to 1000

Direction :

Question numbers 12 and 13
are based on the following
information :

State | Total number| Ratio of | Percentage
of male & |numberof| of post-
female males to | graduate
employees that of [among total
female | employees
employees
A 20,000 13:7 60
B 30,000 8:7 50
C 25,000 5:5 64
D 40,000 14:6 72
E 10,000 6:4 42
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11. TH TAGaradar Tedd ge foaar

e
SIS Tl THUT IHGER = 1000
W SHEAR = 550

T I SHEAR = 700

T Tciean e HE

T AARHE T

(A) 100 d 250

(B) 250 9 550
(C) 550 4 700

(D) 700 T 1000

3 2 S LI
9 Ak 12 37T 13 T Ieier Hifeeta)
MATRA 3T|%?l :
=T S AYE | TEU ARG [ TEHT
THW | S ARG | Sregi it
Rleacie] Ui REC NN
e Rleacii
MlCEE
20,000 13:7 60
30,000 8:7 50
25,000 5:5 64
40,000 14:6 72
10,000 6:4 42




12.

13.

Find the number of male employees
in state D :

(A) 14,000
(B) 6,000
(C) 28,000
(D) 20,000

Find the number of post-graduate
female employees in state B :

(A) 8,000
(B) 15,000
(C) 350

(D) 7,000

Direction :

Question numbers 14 and 15
are based on the following pie-
diagram :

D

: Printing cost

: Cost of paper

: Royalty

: Advertisement charges
: Other charges

HOwm

12.

13.
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D I TN J&H ARQRE T
<plel @
(A) 14,000
(B) 6,000
(C) 28,000
(D) 20,000
TG Sl ARGRE B TSATHHe §e&
hlel
(A) 8,000
(B) 15,000
(C) 350
(D) 7,000

qI T

Uyq whATeh 14 IMUT 15 § qeEred
AAB-IFHRATGR ARA e

A
B :
C : "1y
D:
E :

[P.T.O.



14.

15.

16.

If the cost of paper is Rs. 16,000,
then find the amount of other

charges :

(A) Rs. 16,000
(B) Rs. 10,000
(C) Rs. 8,000
(D) Rs. 12,000

The tax deducted at source is 10%
of the royalty amount then the

amount of tax paid is ............... .
(A) Rs. 1,200

(B) Rs. 800

(C) Rs. 1,000

(D) Rs. 8,000

Which of the following is the correct
full form of IPTV ?

(A)

International and Political

Television

(B) Internet Proliferation

Television

(©)

Inter Provisional Television

(D)

Internet Protocol Television

14.

15.

16.
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SR el @9 16,000 % 319, ©®

I TEE WHH FE
(A) 16,000 =.
(B) 10,000 =.
(C) 8,000 %.

(D) 12,000 =.

YL A 10% T T hTIeard

(A) 1,200 =.
(B) 800 =
(C) 1,000 =.

(D) 8,000 %.

IPTV 31 Y=l I STedier fosr

qEIcTdehl ShIoT 2

(D) FeTe UrRrenia fafest

10



JUN - 00119/I—-C

17. The world’s first computer, ENIAC | 17. Sdial afget Tureh (U)o o
was developed in the year : faenfad s{oaa 3Te
(A) 1945 (A) 1945
(B) 1940 (B) 1940
(C) 1955 (C) 1955
(D) 1960 (D) 1960

18. Which communication service has | 18. YRdW JeIcaideh! IV Halg Wl Tehd 4
been recently closed in India ? ¢ HIAT ATl 2
(A) Postal service (A) <O Hell
(B) Landline (B) grearl (Aeetre)

(C) Telegram (C) dr
(D) Fax (D) %

19. For recruitment as a school teacher | 19. #ERTZT@ ferersh w=U[T HH &%
in Maharashtra one must enroll Wzﬁ = qu%?ﬁ EEEERD
himself/herself on the web portal : FITC A AT ST

A ?
(A) Saral A) T
(B) Maha Jobs (B) Ta1 Sifsa
(C) e-Seva (C) -9ar
(D) Pavitra (D) ufe=x
11 [P.T.O.



20.

21.

22.

Which statement among the
following is not correct with respect
to National Digital Library of

India ?

(A) It is a project by Department of
Technology.

(B) It is a virtual repository of

learning resources with single

window search facility.

(C) Itis friendly to differently-abled

learners.

(D) It is being developed at Indian

Institute of Technology,

Kharagpur.

Convention on Ozone Depleting

Substances is also known as :

(A) Basel Convention

(B) Montreal Protocol

(C) Ramsar Convention

(D) Conference of Parties

Unit used to measure noise level is :
(A) Joule

(B) PPM

(C) Bit

(D) dB

20.

21.

22.
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adta fefSea U vueamEsyta
il HIv fauE O @ ?

(A) B chg HEHIAT do  faumm=n

Thod 3R,

(B) T ferest iy gfawr st&cien &
iR HEHETfecaT= S el
3TTe.

(C) ® Uarerd feeam STamgehi=T TesTau)

1RGO

(D) o e fasm® 9YRdE -
T (AFIMAA.), TR AN
FUI T R

3 HHT HLomA gerifesEEt gfive
(A) 8« 9ftug
(B) Hifead Wik

(C) THW 9RwE

(D) fafay 2em=m Temt aieg

e Ao Tdes! HISTIaTHIS! JEietish]
HI0d Teheh o9 SIId 2

(A) Joule

(B) PPM

(C) Bit

(D) dB

12
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23. Green India Mission was part of | 23. Bl 9Ra |Gy g1 Rl
the : AT 3TE.
(A) Millennium Development Goals (A) T fawm 3fese
(B) River Action Plan (B) e foshrd Fs
(C) Swatch Bharat Abhiyan (C) =3 9Ra 3IaH
(D) National Action Plan for climate (D) STAERTiT SRS T Sl
change RISk
24. International Solar Alliance was | 94 sy €R Hewfir & OR Ssif wesr
S 8 S | 0
proposed by : (A) YR FEEEsT
(A) Indian Prime Minister B) T S —
(B) French President
(C) African Union (C) ShHT T
(D) European Union (D) FAfEA I
25. Concentration of toxic chemicals | 25. frator St fasmd wrEm
through food-chain result into : | oo ITAT HRUAYT  BIdTd.
(A) Accumulation (A) F9™
(B) Excretion (B) ScHSiH
(C) Biomagnification (OREERCISIET
(D) Elimination (D) FIGT <R
26. Technical and scientific education | 26. wifs% o aF+e foeo & o
was given in : JueTaed oA ST 2.
(A) Vedic system of education (A) dfesm forero
(B) Pre-Vedic system of education (B) t‘@f—éﬁm T3eon
(C) Buddhist system of education (C) dfgw foram
(D) Islamic system of education (D) s&ATHen f3reqor
13 [P.T.O.



27.

28.

29.

30.

According to UGC list published the
state with the most universities is :

(A) Uttar Pradesh
(B) Maharashtra
(C) Tamil Nadu
(D) Rajasthan

For creation and development
of MOOC courses in different
disciplines MHRD has notified
is one of the eight

national co-ordinators.
(A) Mumbai Vidyapeeth
(B) U.G.C.

(C) YCMOU

(D) IIT Mumbai

Most of the State Universities are
in nature.

(A) Affiliating Universities
(B) Deemed Universities
(C) Self-financing Universities

(D) Private Universities

Which organization arranges
administrative course for principals ?

(A) HRD Ministry
(B) UGC

(C) NUEPA

(D) NCTE

27.

28.

29.

30.
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IS YRg el ARITER

I TG Fald S fagardis st
(A) SISY

(B) wereg

(C) dfHesTrEg

(D) TS

fafay fagammeda MOOC widd
faenfaa sHoam@Edt MHRD 1 3116 T
AT e dent
Teh G AIfHd sholell TR,
(A) gag fagamdis

(B) fogamdia srieM
(C) 4.4 WENIe Ho fogamdie

(D) .S HeFE
TEAT T s
et fagamdie aed.
(A) AT

(B) 3fyed

(C) TF-31¢f e
(D) @Sl

YIS TehT9Teh I Shid ShIUTd STETAT

SIS WA ?

(A) THE FHEE T

(B) fagamdie eteE emm

(C) T ferfores fEeH 9 wemE

(D) T forern freon 9fteg

14
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31. The reflective level teaching is : 31. famefl @ ade seATT
(A) teacher-centered and subject- ) )
(A) Torerrens! onfor faorehsl o19d A1
centered but not learner-
centered i T
(B) not teacher-centered but is (B) Toreremehsl 9 A= famehgy aaifor
bject-centered dl1 - .
subject-centered and learner - e 3
centered
(C) Torerhahsl o7aa AT faweng smfin
(C) teacher-centered and not
subject-centered and learner- Fremeieh sl THd.
centered N A ~ N o N A ~
(D) THrershepst T9d a9< fao=ehst T9d
(D) neither teacher-centered nor )
O ezl 3/ d
subject-centered but is learner-
centered 32. Uie areggAnedt
32. The adult learner is : (A) TEreEER-Ifa s
(A) peer-motivated .
(B) =Iufd 31l
(B) self-motivated
(C) FHZa-IRa /el
(C) family-motivated
(D) society-motivated (D) FHTSTIRT STl
15 [P.T.O.



33. Massive Open Online Courses

(MOOCs) are :

34.

(A)

(B)

(®)

(D)

flexible and open form of self-

directed, online learning

designed for mass participation

flexible and open form of
teacher-directed, online
learning designed for mass

participation

flexible and open form of self-
directed, off-line learning

designed for mass participation

flexible and open form of
teacher-directed, off-line
learning designed for mass

participation

Modern teaching support system

includes :

(A)
(B)
(®)

(D)

Smart Boards
Green Boards

Charts

Maps

JUN - 00119/I—C

33. Hfges YA 3iared ®Eq (MOOCs)

34.

(A)

(B)

(®)

(D)

i yEuTed (Mass) GedRTHEE!
ARferd wad, dAafas i

o N A haV o o
AlAeRlld, Had <Awlld SAlcdle
YA

T3 JHOmed (Mass) Ie9NTHIG
ARferd sdw, aafas rfo
Toreren-Fefia, Yo e SiHaEA
T

i yEmedd (Mass) FeRTEG!
ARferd wad, dAafas i

o A haN o <
AleRId, qoad Awllid Hlhdle
YA

Higdl YHTeRIA (Mass) SeHITERE!
ARfera wad, @afas  sifo
foraw - eia, s w@ed=

SheATET 31T

16
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35. Which of the following is not | 35. 3T YEIHIUATAI, WU HTF TR
applicable to the internal Ted e ?
assessment ? (A) eregmys eArfor gegared At
(A) Integration of teaching and TShHICH TR
evaluation (B) #\Wed a1 aman A= Qo
(B) Testing of skills and abilities (C) TSI (periodic) 3T FaR
(C) Periodic and continuous (continuous)
(D) Use of only achievement tests (D) $des GUEH =T YA
36. Dialogue method of discovering the | 36. TERNEAMGET TaAGUGAl =~
truth was given by : I feeft.
(A) Plato (A) =
(B) Socrates (B) W™
(C) Froebel (C) wEd
(D) Herbart (D) B
37. If one variable is measured on | 37. SR Us = A+ JUeR (nominal
nominal scale and other variable is scale) ISl S 38 M0 TR =
measured on interval scale, the SRR (interval scale) TS ST
appropriate research method will S, T AT FENEAqGar |
be : T
(A) Experimental method (A) YRR gl
(B) Case-study method (B) HHI-AE TGl
(C) Cross-sectional method (C) frir-oeras dsdl
(D) Correlation method (D) Heuay ggdl
17 [P.T.O.



38.

39.

40.

Which of the following is not a

characteristic of good hypothesis ?
(A) Testability

(B) Objectivity

(C) Complexity

(D) Conceptual clarity

If mean and median of a frequency

distribution are 20 and 22

respectively, then the mode of the

distribution will be :
(A) 21
(B) 16
(C) 26
D) 11

Using someone else’s research
without due acknowledgement is

called as :

(A) Copyright
(B) Plagiarism
(C) Publication

(D) Patent

38.

39.

40.
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ETeteldeh! ShITd SITedl Tiicheq <

(hypothesis) afyrs=a A& ?
(A) TurHOT&rH

(B) aI&fsa

(C) Tard

(D) HellereasZd

SR IRl faaeoma gegmE oy
T STERH 20 9 22 ST, @

o faaum sgae

3.

(A) 21

(B) 16

(C) 26

D) 11

I ESNIE I CRE o B P
(A) FIdRTEe

(B) aremI=

(C) Tk

(D) @ &Fh

18



Directions :

Answer Question Nos. 41 to 45
based on either the English

passage or the Marathi passage :

A sanctuary may be defined as a
place where Man is passive and the
rest of Nature active. Till quite
recently, let me tell you, Nature had
her own sanctuaries, where man
either did not go at all or only as
a tool-using animal in compara-
tively small numbers. But now, in
this machinery age, there is no
place left where man cannot go
with overwhelming forces at his
command. He can strangle to death
all the nobler wildlife in the world
to-day. To-morrow he certainly will
have done so, unless he exercises due
foresight and self-control in the mean

time.

There is not the slightest doubt that
birds and mammals are now being
killed off much faster than they can
breed. And it is always the largest
and noblest forms of life that suffer
most. The whales and elephants,

lions and eagles, go. The rats and
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flies, and all mean parasites, remain.
This is inevitable in certain cases.
But it is wanton killing off that I
am speaking of to-night. Civilized
man begins by destroying the very
forms of wildlife he learns to
appreciate most when he becomes
still more civilized. The obvious
remedy is to begin conservation at
an earlier stage, when it is easier
and better in every way, by
enforcing laws for close seasons,
game preserves, the selective
protection of certain species, and

sanctuaries.

I have just defined a sanctuary as
a place where man is passive and
the rest of Nature active. But this
general definition is too absolute for
any special case. The mere fact that
man has to protect a sanctuary does
away with his purely passive
attitude. Then, he can be beneficially
active by destroying pests and
parasites, like bot-flies or mosquitoes,
and by finding antidotes for diseases
like the epidemic which periodically
kills off the rabbits and thus starves

many of the carnivores to death.
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41.

42.

in where

has

intervention to be beneficial, the less

But,

experiment

except cases

proved his

he upsets the balance of Nature the
better, even when he tries to be an

earthly Providence.

In the passage, it is implied by the
author that his first definition of a
‘Sanctuary’ is :

(A) somewhat idealistic

(B) quite wrong

(C) completely unacceptable

(D) difficult to defend

The author seems to be much
concerned about the active role of
man in protection of animals

because :

(A) he is afraid of the fact that it
would lead to the imbalance of

the ecological system

(B) he is sure that it is beneficial

for the mankind itself

(C) he thinks that man’s

passiveness is not a sign of his

being alive

(D) he is more idealistic

41.

42.
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43.

44.

45.

46.

The above passage can be :

(A) a part of an article in a scientific
journal

(B) an argument in front of the
court of law

(C) a part of a speech delivered to
an educated audience

(D) an extract of a scientific report

The author intends to convey the
message that :

(A) Man is quite a clever animal

(B) If the man failed to maintain
the ecological balance, it will be
harmful in the long-run

(C) Man wishes to destroy the wild-

life as it is harmful for his
existence

(D)

The balanced ecosystem will
decrease the importance of man
in the overall affairs of the
universe

The tone of the author can be best
described as being :

(A) descriptive
(B) humorous
(C) narrative
(D) sarcastic

According to Dr. Deval, communi-
cation means :

(A) Sharing of ideas

(B) Sharing of experiences
(C) Perception

(D) Sharing of emotions

43.

44.

45.

46.
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47. To select media to teach a lesson to | 47. od U8 Frerfamamardt meawr=t fars
class, teacher should consider AT F¥TereRT aerE 3fEse, qu\qwfql
objectives of the lesson, age group TN, AT ST HIEHTTTSRA
of students, knowledge about media L EIGIRCRS]
to be used and : RUESE
(A) teaching methods (A) ITEATTIGA
(B) teaching aids (B) Srerfores @mem
(C) mass media (C) uHqg wiegH
(D) evaluation system (D) HHHTIT SHoEA

48. Traffic signals are example of | 48. Zftheh TETaTy g
.................... communication. B IS L B
(A) mass (A) 998
(B) non-verbal (B) WMfsgeh
(C) verbal (C) wIfsgeh
(D) one to many (D) TehThST-3Teh

49. Customers coming to mall and | 49. TERH Hawsd fiFgEs Ja@ o I
sharing some common interest and TS S fearear el THHASIHE
group based activities are steadily QATUTEET ShdTd & T HHE=A Falt
increasing. This is the example of oo qi:s;'lcl B S|, § T
........................ group e QR B
(A) open (A) HX
(B) closed (B) 95
(C) peer to peer (C) TEhi-gehri
(D) hierarchical (D) #rfieis

50. Sometimes mass media misleads | 50. TR THE HIEAH HASIC 31,°|'?I1>¢II
society because receivers are : A 0T 99 e
A) het '

(A) heterogenous (A) FgfSEl (heterogenous)
(B) in large numbers (B) &
(C) illiterate C) FreR
(D) critical (D) ffercash
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ROUGH WORK
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